Precision Ball Screws (Shaft Diameter 12, Lead 2, 4, 5, 10) Precision Ball Screws (Shaft Diameter 12, Lead 2, 4, 5, 10)

Accuracy Grade C3, C5, C7 Accuracy Grade C3, C5, C7, continued
1mm q s
Part Number I Basic Load Ratin
ot a g | Ball |Sorew | Number 9 il | Preload | puicin
Type Grade Screw Y |A|B|T|Z W|H|R|C|d|d | h] . |Centr) Root of Cc Co. Pla Torque Directio%
Precision Ball Screws L Type | Shaft | Lead L " | Dia. | Dia. |Circuits' (Dvr:(aumlc) (St:':lc) Y| Necm "
I (Shaft Diameter 12, Lead 2, 4, 5, 10) — p—e— ” Dia. )
= Accuracy Grade C3, C5, C7 Nut Type Type Accuracy IJ_snaft - c3 | BSX 150-390 | L-68 154 | 205 (P,elgaded) 04-32 5
2 (HFEL [l Material | Hardness | Material | Hardness " 0.0050r | 7.00r c
= c5 | BSS 02 ) . 1.5875| 12.3 | (10.6) ool W= . 5
@ 150-445 | L-57 2.45 41 Right
BSX C3 2 . 0.0300r | __ (=3
g “Induction Carburized e BSSE Less =
2 Standard | pgg o5 12 24510 | MDAV | Hadened | I8 Teg 6 s | BSs 04 | 150-400 | L-70 23g12] 126 |0 PP 36 | a7 | 0%sor| TO 17
= A i HRC min. Standard | o3| oy | 12 150440 1214 374 | 49 |pQig| 1550 =
= BSSE c7 2,5,10 min. Ball Nut - 9 |Preloaded) 150 | o »
S [RotiS 10} cs | BSS 05 L70 | 44 | 34 | 10 45|50 |40 |45 8 |44 e || e 2
= *For 1202, screw shaft material JIS-SCM415 Alloy Steel is carburized. 150-450 5.95 9.8 0.030 or =
- Cc7 BSSE 3.175 | 128 | (9.5 ‘Less — é;
s BSX1202 0 &5 | Bss o 15T AT =
73 35 -0. 10 | 200-600 | L-70 | 49 | 37 | 12 48 | 54| 41(55|9554 1R 3.85 5.9 0.030 or oM
. c7 | BSSE o Tess | —
o &g z 8 See P.750 for detalls. kg=NX0.101972
s & (] . Part Number | PartNumber |- lIl - (FC,KC,etc.)  Accuracy| Part i Types
= =F S Alterati Grade | Number [)150-199] 1200 [L201-250]L251-290]L291-295|L296-300]L301-390] L391-400] L401-440] L441-445 | L446-450 | L451-600
R0.2 or Less [ I °7 4 erations BSX1202 - 300 - SWC13 3 |Bsxizo2 | . — — — — — = = = = -
S I i ﬂ i 8 c5 BSS1202 . . . . . . . . . . — —
gf’ / H i % ® i c7 BSSE1202 . . . . . . . 5 5 . — —
| I I c5 | Bss1204 . . . . . . . . — — — —
= | |
c05||[cos N = C05| €05 Part Number | PartNumber |- lIl C3 | BSx1205 . . . . . . . . S = = —
09 %' — A Example BSX1202 - 300 C5 | Bssi20s . . . . . . . . . . . =
79 79 10 @BSSE1210L - 420 L Type Greased C7 | BSSE1205 b * ° ° ° ° ° ° ° ° ° -
= 0 2-Seal -] | 34 | osc Depth 4.4 @BSSE1210G - 420 G Type Greased 05 |Bsstzi0 | — . . . . . . . . . . .
10 Y (Nut Motion Range) 43 15 \ M10x1.0 Avrom View XX c7 | Bsseizi0| — 5 5 5 5 5 5 . B . . .
L
Alterations Code Spec. Alterations Code Spec.
BSS/BSSE1202 0 No Machining on Support Side No machining added on the support side shaft end. Keyway on Fixed Side Shaft End Adds a keyway on the fixed side shaft end.
35 10_-0.2 Shaft End Ordering Code: NC Detailed Keyway Dimensions P.752. KC =1 mm Increment
g 58 z‘:[bj:n NC O KC | ordering Code: KC10
°s e 2z 8 - ™ . b @ 3<KC<14 (9)
5 . o] 1+t 2 L
<, s ——— ¥=—s | R02 © - Keyway on Fixed Side Shaft End Adds a keyway at a customer specified area on the fixed
RO.2 or Less r L ~ or Less: - Ball Nut Orientation Reversed Changes the nut direction. iE side shaft end. (Key groove dim. is the same as KC.)
’ T r S - (Support Side) Fixed Sice) Ordering Code: RLC (- KLC | K, S="1mm Increment
ge ] ! 7, ! 8 smuam@:)[?u:n RLC k| |s Ordering Code: KLC-K5-S1
i i LA o umé]:@: @ 4<K+5<14 (9)
S ¢ e 1 - N e Fiat Machined on Fixed Side Adds a flat on the fixed side shaft end.
|\ L co5 | Cos Shaft End SCo1mmi
Co5(|cos5 c02 A o N - 1 mm Increment
: +0.1 g No Retaining Ring Groove on Retaining ring groove in not machined on the support SC Ordering Code: SC7
08 o — Support Side Shaft End side shaft end. SC 05 N
01 RNC ; . O 5<5C<14 (9)
6.8 0 2-Seal 3 4 4 9 34 Pr———— @ Ordering Code: RNC
9 Y (Nut Motion Range) 38 10 \ M8x1.0 ’ o @ Combination with FC is not available. 2 Flat Machined on Fixed Side Adds two flats on the fixed side shaft end.
- Arrow View X-X - - Shaft End SWE, GG, SWC: 90° Position SGC: 120° Position
L Change Support Side Shaft End Changes the machining on the support side. 2 > SwcC 3 o e
Machining Q is selectable from 6, 8 © Y dimension is shortened. SGC | ordering Code: SWC10
=3 GC | G="1mm Increment SWE, S60 05t _|os é:"'s“?vc"sgb T 0
BSS1204 G Ordering Code: GC-8-620 S, SOkl @)
i “ @ 5<6<0x3 @ Not applicable to 1202 of C5 and C7. @ Dimensions in ( ) are for 1202.
°§ '§§ 31 10 Change Support Side Shaft Changes the length of the support side shaft end. Periphera|s: Combination of the following parts are available.
2 - End Length FC = 1 mm Increment
e S == 2 Ordering Code: FC20
S 1 8 %
R0.2 or Less = Ir: o2 0 FC Size L FC Range i
i i w = 02 | 68 | 10<FC<20 . i
&g I e8| | = : .
S5 | ! 5
c,.j : HRAZ ? 79 | 11<FC<20 s2® o ® -
< i &} }L \ cos5| cos @ Y dimension is shortened. Support Units (Square) Support Units (Round) Nut Brackets (Block Type)
co5|(|[cos d b 0.2 }
09 *% | : Support Units Support Side
. —y
+0.1 - - - -
797 2-Seal 5. |5 |5 10 Combination with Support Units Nut Bracket
Y (Nut Motion Range) R, o -
10 ( ge) 45 15 \ M10x1.0x Arrow View XX Ball S(s;rew P:: I:'umber e Sl::ppodrt Un:s - Support Units Fixed Side
L crew Shai ul ixe uppo
Type Outer Diameter Lead Type No. Shape Side Side Page
BSX/BSS/BSSE1205 BSS/BSE1210 :3:’ :g Round 2 = gg
g A _ %2 [Tesw | 10 6 | — [ 74 Combination with Nut Brackets
o9 ~o B o 300 M6x1.0 (il Inlet) BUN 10 Square — o) 798
88 ¥ 0 (BSX1205 only) BSX Ball Screw Part Number Recommended Nut Brackets
e = BRW 10 Round o — 800 — Screw Shaft — Part Number T
S 3 | 2 o TN c 05 BUR 10 — o 802 P Outer Diameter Type No. g
RO0.20r Less SF 1 By= (5@/&4\\ BSW 10| souare |—2 — 794 02 BNFB 1202 | 80
1 - ~ Y% . BUN 10 — 8 798 ggé 2 04 BNFM 12048 810
gg | : 1 s / BRW | 8 o — | a0 BosE 05 BNFR 1205 810
<9 ! ; e z o | B g | Round —— o) 802 10 BNFA 12108 810
< 1 | \ § / BSW 8 O — 794 @ Variety of materials and surface treatments for Nut Brackets are available. (P.810).
! c05| C05 N Z Square
€05 \ ! NS R BSS BUN 8 — ¢ 798
C05 .
0.9 +%‘ @ BSSE BRW 108 o) _ 800 Note:
oY) 4-d Through 04 BUR 108 Round — l6) 802 O Filled with lithium soap based grease (Alvania Grease S2 made by Showa Shell Sekiyu K.K).
7.9 o 2-Seal 10| 32 | dic Depth h 05 BSW 108 10 — 794 O caution: Do not remove nuts from screw shafts or allow nuts to overrun the stroke.
10 Y (Nut Motion Range) 15 \ M10x1.0 10 BUN 108 Square o) 798 It may cause balls to fall out or damage ball recirculation parts.
Arrow View X-X — O various grease options are available. For specifications P.752. @ BSX is not applicable.
L @ Aside from the part numbers shown above, there are a variety of other Support Units available with various O For accuracy of Ball Screws, see P.752-754.
shapes and surface treatments. (P.792-802). O For details of Support Units, see P.792-802.

784 @ MiSUMi There’s more on the web: misumiusa.com Check out misumiusa.com for the most current pricing and lead time. 785



